AR T

quatro fragdes, decimais, ordem das operacdes

Nome:

2
4,2-53%3+6% 2 +2

3
5,9-3,5x3+ ==
D ’ 2

l—kl-|—2><4,3=
4

1
4,4-43x4-6x5+3=

Encontro: Data: Pontuagao:

1 1
S —3,342x%x ==
3 7 2
1 1
54— = x3+ = =
S 2
2 2 4020
3 5 3

5,7+6x5,2+2-2x2,6=

1
-+3,5%x2—-4,6=
4 s D
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‘% é:é % .| l' quatro fragdes, decimais, ordem das operacdes

Nome: Encontro: Data: Pontuagao:
2 97 7 1 1 59 29
42-53x3+6%2+2=(—2L)=(-9_ L3 342x - = (-2 = (1=
, ,3 X3 ( 10) ( 10) 37> x5 ( 30) ( 30)
3 31 1 1 1 103 3
_ P N 4o x34 =R 52
3973,3x3+ 5= =) 47733750 7%
11 4 14
L S L 2.2, ,,2_4_,14
13 010 35 315 15
1 3 23 3 161 1
S 4 48-4x2="0 5.74+6x5.2-2-2x2.6= — = 16—
2 TRCTYNIT0 10 1707, AT 10
1 69 4 1 53 13
4.4-43x4—6x - +3=(—2 )= (-132 S -4 6= =22
474 3x4-6x53=(5)=(3) 7 H35%2746= 5 =255
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